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[JL632 | 28 EVAI | 16000 £
[JL634 | 28 EVAT | 17,000 16,800, H:19.200
| JL638 | 28 EYAI | 14800 8:15.400
B (HE)=2% FR CRE) %[ _JL687 | 28F AT [ 15.500
[JL689 | 28 VA | 15500
691 | 28I | 16.300
693 | 28I | 16.800
695 | 28EAI | 16.800
L697 | 28 EIAT | 16300 £:15.300. B:17.800
BB 688 | 28I | 15.800 800, F:17.500. H:15.300
L690 | 28 AT | 15.700
L692 | 28 EIAT | 15.200
694 | 28I | 16.800
[JL696 | 28 ETAT | 15500
1698 | 28 EIAT | 15300 45 E Al
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- T0/79-27
3TA FxE{7B
B bl e mEeT HET
BEAM | ETEES
B (FE)=X5 RERERCAE) % 28R [ 16.500 6:
[ 28L& | 17.000
[ 28L& | 16.000
[ 28L& | 15500
[ 28L& | 15500
28 LA | 16500
xnE | J 28L& | 15300
[ 28L& | 16.000
[ 28L& | 15500
28L& | 15500
28L& | 17500
[ 28L& | 14800
RRHH)-EH | RRAE) E|_J 2811 | 16,800
[ 28L& | 18400
[ 28 LA | 16800 5:17.700
28L& | 16800 £:17.700
28 A1 | 16500
28E Al | 16500
Ri&E [ J 28E /I | 16100 E=]
[y 28EI A | 16500 8 H:14.800
28E Al | 16800 16,900, H:17.500 700, £:16.000. £:15.000, H:15.800
L 28E /I | 19100 700 700, £:1 17.100
L 28E /I | 19100 700 700 £:1
L 28EI A | 16500 15,800, H:18.000 000, %1
B (HA) =R ESACEE ]I 28HAT | 14.600 X 1:14.800. #:
28EI Al | 16500 17,000, £:17.800. H:14.800 5600, H:12.900
28EI Al | 16500 17500, £ £:17.800. H:16.300
28 B A | 17300 6.800. K 7K:16.500
28EI A | 17.000 6.000. 7K:15.500
28E Al | 15500 6.900. F:16.300
28EI Al | 16300
28EI A | 16600
A 28EI /I | 17000 800, 15,90
[ JL624 | 28I | 18.000 4700, % £:15.300
[ JL626 | 28Ei | 16.800 14.200
[ JL628 | 28I | 15.800 [ A H:16.800, 7K:15.300. £:16.300 14.700_7K:13.100. :14.200
[ JL630 | 28I | 17.500 1000, £:18,000. :17.300. H:17.400 4700, J7K:14.800
[ JL632 | 28I | 16.000 E3 5.100. K1
[ JL634 | 28I | 17.000 E3 5300, &1
| JL638 | 28I | 14700
B (HE)=2% FR CRE) %[ _JL687 | 28F AT [ 15.500
[ JL689 | 28I | 15500
691 | 28EEI | 16.300
693 | 28 A1 | 16.800 114800, F:14500
695 | 28 A1 | 16.800 15,300
1697 | 28EIAI | 16300
EEES 688 | 28EIEI | 15.800
1690 | 28FI A | 15700
1692 | 28FIA | 15200
694 | 28EI | 15300
[ JL696 | 28I | 15500
1698 | 28FI A | 15300 45 AL
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. Ny My N 9/1 9/2
- P e Y A 557 | BT Al TS
Eam ERm | Eam
FRGE RS | RRPEE 50 [ Tas00 | 12800
.800 6.100 | 14,100
800 [ 16100 | 14.100
900 [ 17500 | 15.300
500 [ 18500 | 15.000
500 [ 17.000 | 14,900
A% 300 [ 14.800 | 12.600
000 [ 15500 | 13.600
500 [ 16.800 | 14.700
500 [ 16.800 | 14,700
800 [ 18400 | 16.200
300 [ 16300 | 14,200
FRGIE BB | FR (A %[ 605 | 500 [ 6300 | 13500
700 [ 16.800 | 14.700
100 [ 18000 | 14700
500 [ 18000 | 14700
900 [ 17.600 | 15,600
100 [ 17.600 | 15,600
RA% 200 [ 16.800 | 14,800
600 [ 16.800 | 14,800
7.300 [ 18000 | 1
7.300 [ 19300 | 1
7.300 [ 19.300 | 1
100 [ 18.000 | 1
TR RA | RRBEE 500 [ia600 |
400 15500 | 1
400 [ 16.300 | 1
400 [17.300 | 1
7.000 [17.000 | 1
300 17000 | 1
300 100 | 1
500 [18.100 | 1
AR ym [is000 |
300 17700 | 1
800 [ 16.800 | 1
000 [ 16.800 | 1
300 [ 18.000 | 1
000 [ 19.500 | 1
900 [ 19.800 | 1
900 16,000 | 1
FRGEEE | RRMEE 50 15500 | 1
000 15500 | 1
500 [ 16.300 | 1
500 [ 16.900 | 1
000 [17.300
000 [17.800
B 500 [ 16.000
900 [16.000
000 [ 165500
500 [ 16800
500 [ 17.500
800 [ 16300
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PRV PR 9/14 9/15 9/16 9/17
= e e T A S (7 B R Al S 7 B Bt Al 7 B AT A
BRE | @R | BAH | BN | #RE | A6 | SA4
FRGD A | RRGEE 500 060
.000 800
.500 800
.500 000 900
.000 300 900
100 600 |
AR 300 200
.000 200
.500 800
.500 A 800
.300 400
.300 800
AR RE | RRGE B[ 800 800
.800
700 500
700 500
8.500 300
8.500 300
EBR 7.100 300
7.100 500
.800 300
.400 900
.400 900
500 3500 |
FRGBRE | RRGEE 500 600
.200 400
.200 400
600 500 |
7.500 500
[ J 7.600 000
L637 [ 28 7.100 000 | __16.000
L639 [ 28 8.200 300 | _18.900
EARE | JL622 7.500 000 [ 15.300
[ 500 500 [ 15.300
[ 800 000 [ 14.700
[ 800 [ 15.200
[ 300 [ 15.800
500 [_19.700
500 [ 19700
500 [15.700 ]
R B | RRGE R 000 200
[ J 7.000 400
[ J 7.500 400
[ J 7.500 000
[ 7.500 900
J .000 900
EEE | J 800 300
[ 800 800
[ 800 200
[ 100 000
[ 7.900 200
J 6.800
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. Ny My N 9/21 9/22 9/23 9/24
= P e o Al 5857 B| A7 Al 557 B| BT A 57 | BT Al TS
R | EAm | EnEm | SR | EAE Eam | En
FRGE RS | RRPEE 500 500 700
.000 800 900
500 800 900
500 [ 1 000 900
.600 [ 1 500 900
.100 [ 1 800 .600
K55 300 [ 800 200
.000 [ 1 800 200
.300 [ 1 300 200
.300 [ 1 300 200
.300 [ 1 300 300
.300 [ 1 800 300
FRGIE BB | FR (A %[ 605 | 500 [ 500 500 |
.800 | 2 800 700
700 | 1 500 200
700 | 1 500 200
.500 | 1 900 900
.500 | 1 900 900
BB 800 [ 600 700
.900 | 1 600 700
.800 | 1 300 000
.400 | 1 600 600
.400 | 1 600 .600
.500 | 1 .900 .400
TR RA | RRBEE 500 [ 500 900 |
.300 2. 800 600
8.200 2. 800 700
7.600 2. 7.100 .200
7.500 2 500 200
7.200 [ 1 000 900
7.100 [ 1 300 400
8.200 [ 1 600 900
A 7.300 [ 000 500
.400 | 1 900 100
.800 | 1 800 700
.800 | 1 500 200
.300 | 1 000 200
.500 | 1 000 900
.500 | 1 000 900
.500 [ 1 500 .700
FRGEEE | RRMEE 500 200 |
.000 700
7.500 300 700
7.500 500 000
.800 7.100 .900
.000 500 X
EER 500 300
.800 100
.800 500
.800 000
300 000
6.800 5.800

JAL
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BEBAA ;. 2018/02/07 ~

10/5 10/6 10/7 10/8
F18547 Al £18547 B| £18547 A| £15547 B| 15517 A % 18547 B[ £ 18547 A[ 15447 B
.600 . . . 400 15,

.600 . 400
.300 600
23.100 900
26.100 900
26.100 . X . 400

BER417 RERI(T
B

R (FE) =ALIR (31 F %) RRCRE) %

.800 000
.000 A 000
.400 . A 000
.000 A 400
.000 A 400
.000 400
.800 900
22.800 900
21.200 300
20.600 700
.400 300
.400 900
.400 900

AL (BT F ) H_J

7.100
7.100
.700
.100
.600
.600
20.300
20.300
21.100
21.100
20.400
7.300
7.300

6.500
7.600
7.000
7.500
7.700
8.300
6.800
7.500
.800
.800
.000
.300

R CRE) =K% RRECRE)#| J

S|S]
S|S]

|

o
S|
S|S]

o|
S|
S|

N
S|
S|

RRF

o
S|
S|

|
S|
S|

|
S|
S|

6.300
20.100
19.300
18.500
19.000
25.500
6.600
7.400
7.400
9.100
22.300
.000

AR CRE) =Ki& RECRR)#| J

RIE5

.600
.500
.500
.900
7.500
7.600
7.900
8.800
7.300
.200
.800
.800
.300
8.500
22,000
1,000

AR CRE)=REX RECPE)#| J

=33

RR(HE)-ER | RRCAE | 7,600
7.600
7.600
7.600
7.500
8,000
7,100
6.800
6.800
7,100
8,000
8,500 16,300 [ 1 28,000




IR—N—%BIEER WA 1~IBEFES) A

EE#EMAA . 2018/02/07 ~

4/1-9
FH )
37 @ | BAS [— - 2R
B oanE | Y E
RECRE) =L (FF&)| RRCHE) % 55 .500 7% 700
55 500 500
55 500 500
55 500 500
55 500 500
55 500 500
55 10.700 1000, £:12.500, H:10.400
55 500 | 7 500
55 500 | 7 500
55 500 | 75% 700
55 500 | 75% |H:10.500
55 500 5% 9700
55 500 75% | %:11.100. H:10.600
55 12700 | 66% |£:15.500. £:11.200,
55 12700 | 66% [£:15.500. £:11.200
55 9,500 75% :9.700. £:9.000
55 8,500
ECACETIE: 55 10.500 1000, £:12.500, H:10.000
55 13.000 500, £:14.100. H:11.500
55 500 500
55 500 500
55 500
55 500
55 500
55 500
55 300 1500, £:10.000. 00
55 000 500, £:11.000. H:15.000
55 000 500, £:11.000 00
55 000 500, £:11.000 00
55 000 500, £:11.000 00
55 .000 000, £:10.800. H:13.500
55 9.500
55 8,500
55 8,500
FR(CRE)=K5 RRPE)F [ J 55 .900 £
55 500 | 66%
55 100 | 67% [AA
55 1200 | 69%
55 900 | 68% |B
55 000 | 67%
KH5 55 000 | 70%
55 000 | 70%
55 500 | 69% 3:13.000
55 500 | 69% 3:13.000
55 .900 | 65%
55 000 | 70%
RR(CRR)=RIK ERCRE)S | J 55 .000 72%
55 200 | 70%
55 400 | 72%
55 400 | 72%
55 900 | 70%
55 900 | 70%
R 55 900 | 70%
55 900 | 70%
L 55 1200 | 72%
L 55 100 | 68%
L 55 100 | 68%
L 55 900 | 70%
FR(CRE) =R ERCRE)F | J 55 1.100 73%
55 2,000 | 71%
55 9.700 76%
55 000 | 68%
55 000 | 71%
55 500 | 70%
55 500 | 70%
55 000 | 68%
AR 55 500 | 70%
55 000 | 66% :12.900
55 300 | 68% 3.800. H:12.000
55 9.700 76%
55 200 | 70% |B
55 900 | 69% [A:
55 100 | 68% |2
55 100 | 75% |7
R (PE) ==& RRCEE) %[ Y 55 200 | 70% |&: £:13,
55 200 | 70% |%:12,900. £:14,200
55 800 | 69% | AK:12,000 A:12,200, £:12,700, £:13500
55 ,200 70% :13,800, #:13,300, +:12,700, H:14.000
55 ,200 70% [A 13,700, H:14,000
55 400 | 70% H
] 55 200 70% |8
55 ,200 70% [&
55 200 | 70% |B:
55 ,200 70% [
55 200 | 70% |£:12,800, H:14,000
55 .300 73% [X:10,300, £:12.100,
IR TR =ES L% L. 55 ,800 71% |#:15.700, £:15,700
417 (37 F #) %| JL3406 | 55 4,800 | 71% [H:15,700




[R—/{—%BIEBER(AA10~26BHERS) AL
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4/10-26
A%k

=40] B

R (FE) =AU (T F )| RRCABE) %

FLIR (3 %) 5

00, H:12.500
000
000
100.

R CRE) =R RRPE)F [ J

.500. H:13.700
500, H:13.700

K:12.400,

:13.100, £
£:14.100, £:12

ENTES

1.600, £:12.600.
:16.300, +:15.400, H:12.300
AK:11.200, £:12.200, £

SR CRE) =8I RRCRE) | JL

S L

EEAC:E TN RRERCPE) & | JU

A CRIER) =B RROPE)R | J

S

AR CRIE)=REX RROPE)R | J

< 5= [l
o

00. B:12.500
14,100, H:14,600
14,100, £:13,200

Y (31 Y Y

RROAE)=ERSE | RR(EE) & [ JL

ERBR L 2X:10,700

+:11,100, B:13,100

:10,400
X H:10,900
654 X H:10,900
3

L3403 15,700, £:15.700

RGFFR)=LE NCES
$L8% 3 F %) %[ JL3406 [ 55 14.800 71 :15,700




[R—I—%BIEERGAT~1TAEBED) AL

EE#EMAA . 2018/02/07 ~

FH e
=40] Ea | BAH — EEW
BB B FHES &
KR (BAZE) =#LoR (37 F#%)| KB (BIdE) 5 [ JL2501 | 55 2.900 72% [ +:14.900, .500
55 .200 80% |+ H:10.800
55 .200 80% |+ H:10.800
HLIR BT F R $_J 55 .600 79%
55 600 79%
55 400 | 73% |%:11.200. £:10.500, H:11.900
R CRE) =8I RECPE) R 55 500 71% 112,700,
55 800 | 66%
55 300 | 72%
ElEES 55 .300 72%
55 500 | 69%
55 000 | 72%
R CRB)=#IE RERCPE) % 55 -900 72%
55 600 | 71%
55 600 | 71%
55 800 | 68% |A:
HIER 55 000 68% | A:
55 500 | 69% [ K
55 500 | 69%
55 300 | 74%
FR(CRE) =R ERCPE)S | J 55 -700 12%
55 300 | 68%
55 300 | 68%
55 700 | 69% At
55 700 | 69% |H3Z
55 700 | 69% |A:
55 500 | 70% [A:
55 000 | 68% |A:
HEARF 55 .000 68% |A:
55 100 | 66% |A:
55 100 | 66% |A:
55 000 | 68% |A:
55 000 | 68% |A:
55 700 | 69% |A:
55 700 | 69% |A:
55 .900 | 73% |7K:12.000. £ H:13.100
RER(AEB)=ERS FRCRE)F | JL 55 .400 78% |1:10.400
J .400 .400
J .900 .900
J .900
.900
.400
400
10100 | 77% [H:11.100
ERBR 9.700 78% | A:15.700
11100 | 75% | H:13.000
9.400 78% | H:15.900
9.400 78% | H:15.400
11.300 | 74% [H:15.600. JKA:12.100. H:13.100
9.400 78% | H:15.400. 0
9.900 71% [A:
9.900 77% |A:
AR FHTFR) =R Fe% JL3403 | 55 14800 | 71 :
#L8% (3 F %) % JL3406 | 55 14800 | 71% [B:
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5/18-31
Fi
=45 BE | BAK 2R E
B | R %
KPR (RA78) =#Li% (37 F#%)| ABx (BA#E) % [ J 55 2.900 & £:14.900. 500
55 .200 £ H:10.800
55 .200 £ H:10.800
HLIR (3 F i) 59 55 .600
55 600
55 400 111,200 £:10.500.
R CRE) =REX RECRE) % 55 .700
55 300
55 300
55 700
55 700
55 700
55 500
55 000
AR 55 800
55 800
55 100
55 000
55 800
55 700
55 700
55 .900 000, % H:13.100
RER(AEB)=ERS RERCRE) % 55 .400 .400
55 400 400
55 .900 .900
55 .900
55 .900
55 400
55 400
55 10.100 H.11.100
ERBR 55 700
55 11.100
55 9.400
55 9.400
55 12.100 £:11.300. H:13.100
55 9.400 400
55 9.900 .900
55 9.900 .900
LR EF TR LS LEB% 55 14.800 700, £:15.700
#L8% (37 F %) % JL3406 | 55 14.800 700

JAL
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) 4/21 4/28 4/29 4/30
=R B4 E%)\M A—r\—5uth | A—r\—stil | /S5 | 25—
2] ERE

.700
.700
.700
.700
.700
.300
.700
.200
.200
.200
.700
.100
.900
.900
200
6.900
6.900
7.200
7.200
7.200

R CRE) =4 (RH) | RRCHE) R

ik (GRER) 5 | J

KR (5 =4LIR B Fi%)| KBR (7 %

FLIR (3 %)

KR (BAEE) =ALUR (3 Fi%)| KB (B8 % | J

ol
S|S]
S|S]

FLIR (B %)

|

ol
S|
S|

|

|
S|
S|

|

o]
S|
S|

RECPE)=&in5l RRCRE) | JL

|

o]
S|
S|

|

|
S|
S|

|

ES EIES

oo [ [en [cn|
SESEE
S|3|3|3]

AR CRE) =R RROPE)R | J

|

N
S|
S|

|

ENES

A CRIER) =B RRERCPE) & | JLU

S

AR CRIE)=REX RROPE)R | J

RRCAB)=ERE | ®RR(FER

ERBR
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27 5/1 5/2 5/3 5/4 5/5 5/6
=40} B4 Eﬁ/\m A—r$—st | A—ri—eig | 2—si—se# | 25—t | A—r8—58 | 2~/ i—5e8

BB B | ER EREE | ERA | EAs | ER

R CRE) =4 (RH) | RRCHE) R

ik (GRER) 5 | J

KR (5 =4LIR B Fi%)| KBR (7 %

FLIR (3 %)

RECPE) =&kl R CPIE) % | JL565 |

ES EIES

R CRE) =Rl RRPE)F [ J

ENTES

R CRIE) =8IE& RRECPE)#

S

EEACE:E TN RRECPE)#

A CRIER) =B RROPE)R | J

S

AR CRE) =Ki& RROPE)R | J

R

R CRE)=REX RROPE)R | J

RRCAB)=ERE | ®RR(FE)R

ERBR
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EEBEAB 2018/02/07 ~
6/1-7
AR
=R
EEH
BRE | 51
(e e 700 7z
.300 68%
.300 68%
700 69%
700 69%
700 69%
.500 70% B
.000 68% B
AR 600 | 69% |
.800 64% |k
100 66% |A:
.000 68% | H:13.
.800 64% | XAK:13.000, 7 00,
700 69% | A:13.000, £:14.400,
700 69% | A:13.000, £:14.400,
.900 73% |7k:12.000. £
TR ERE | AR GEE 400 400
.400 .400
.900 .900
.900
.900
.400
.400
10.100 17% H:11.100
BRBR 700 78%
11.100 75%
9.400 8%
9.400 8%
11.100 75% 100
9.400 8% .400
9.900 17% .900
9.900 17% .900

JAL



[R——5%B 1 EER(6AB~14REBFE)

EBEEAA 2018/02/07 ~
6/6-14
B - A—I—%15
maa | BEA ‘ wE
RR OB RE | BRPE) R 700 | 72% [2:12.100. £:14.200
300 | 68% |2:13.600, £:14.600.
300 | _68%
700 | 69%
700 | 69%
700 | 69%
500 | 70% [A:
000 | 68% |A:
AR 600 | 69% |k
800 | 64% |k
100 |_66% |A:
.000 | 68% | H:(3.
800 | _64% | AK:13.000, 7K:12.700,
700 | 69% | H:13.000, %:14.400.
700 | 69% | H:13.000, %:14.400,
.00 | 73% _[7k:12.000, £ E:
RER(AEB)=ERS RERCRE) % .400 .400
400 400
900 900
900
900
400
400
10100 | 77% |B:11.100
BRBR 700 _|_78%
11100 | 75% |J11.300
9400 | 78% [%:11.300
9400 | 78%
11100 | 75% |H:12.100
9400 | 78% |B:10400
9900 | 77% [E:10900
9900 | 77% |A:10900

JAL
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6/15-21
) - A—I—%15
BRE | wis ‘ e
RR OB RE | BRPE) R 700 | 72% [2:12.100. £:14.200
.300 68% :13.600, +:14.600.
.300 68%
700 69%
700 69%
700 69%
.500 70% B
.000 68% B
HEAR 600 69% [ K.
.800 64% A
100 66% |A:
.000 68% | A:13.
.800 64% | XAK:13.000, 7 00,
700 69% |H:13.000, £:14.400,
700 69% |H:13.000, £:14.400.
.900 73% [7k:12.000. £H:
RRCAE)-ERE | RRCAE R 400 400
.400 .400
.900 .900
.900
.900
.400
.400
10.100 77% |H:11.100
BERBR 700 78%
11.100 75%
9.400 78%
9.400 78%
11.100 75% :12.100
9.400 78% :10.400
9.900 7% :10.900
9.900 7% :10.900

JAL
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EBEEAA 2018/02/07 ~
6/22-30
P - i ]
maa | BEA ‘ wE
RR OB RE | BRPE) R 700 | 72% [2:12.100. £:14.200
300 | 68% |2:13.600, :14.700,
300 | 68% |5 %:13.600,
700 | 69% 13.600,
700 | 69% 600, %:13.800.
700 | 69% 000, +:13.200.
500 | 70% | H:13.600, 7k:13.000,
.000 | 68% | H:13.200, K:14.100,
AR 600 | 69% | AUK:13.000.
800 | 64% | X:13.000. K
100 | 66% | H:13.600, :13.000.
.000 | 68% | H:13.600, K:12.500,
800 | _64% | AK:13.000, 7K:12.700,
700 | 69% | H:13.000, %:14.400.
700 | 69% | H:13.000, %:14.400,
900 | _73% |K:12.000. &
RER(AEB)=ERS RERCRE) % .400 .400
400 400
900 900
900
900
400
400
10100 | 77% |B:11.100
BRBR 700 _|_78%
11100 | 75%
9400 | 78%
9400 | 78%
11100 | 75% 1100
9400 | 78% 400
9900 | 77% 900
9900 | 77% 900

JAL
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7/1-12
A
=40]
E—78
BRE | i
R CRE)=HEX R (FE) 1.700 73% | A%:13.400

.600 69% | A:14.500, £:
.500 67% |XJK:14.400, £
.200 65% K:14.700,
13.400,

BAR

200, ) . K:14.900, %:15.800. H:16.500
.400. K:10.900. £:13.700. £:11.500. H:13.100
RER(AEB)=ERS RERCRE) % .900
. 900
10. 400
10.
10.
10.600 7% | B:11.600
BRER 10200 | 78%
11.600 | 75% | JOKA:11.300
9900 | 79%
9900 | 79%
11.600 | 75% | JAK:11.300. H:13.600
9900 | 79% [B:10900
10.400 7% [ B:11.400
10.400 7% | B:11.400




TR—N—%FGIHEER(TA1T~23BEED)

EBEEAA 2018/02/07 ~
7/17-23
=40] =W A—N—%FT
SBRE
EIEIES
HR(PH)=-EH HERCPAEHE [ J .500 71% _|A:
600 | 66% |A:
100 | 65% |k
100 | 65% |k
900 | 68%
200 | 67%
RIGH 100 65%
100 | 65%
100 | 65%
100 | 63%
100 | 63%
100 | 67%
R CRE) =X RECRE) % 600 71%
500 | 67%
900 | 66%
900 | 64% |7
1900 | 66% | &l
400 | 67% |4
600 4
400 7
AR 400 7 100, 0, 00. H:14.900
600 | 62% 600, KA B:16.100
600 | 64% |7K:15.100
600 | 64% .000. AE:14.600.
600 | 62%
900 | 66%
900 | 64%
500 | 69%
RR(PE)=ERE | RRCAB) R .900 | 79%
900 | 79% |/
10.400 7% |
10.400 7%
10400 | 77% |2
900 | 79% |/
900 | 79% [ X:10.900
11.600 | 75% [X:12.300. % H:12.600
BERBRE | J 55 10400 | 77% |7 0
J 11600 | 75% |2
J 9.900 | 79% |/
J 9.900 | 79% |/ -
12600 | 73% [ K:12.300, H:14.600
9000 | 79% |/
10.400 7%
10.400 7% |
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=40} — A—I—%15
SBRE BEE W&
HR(PH)=-EH HERCPAEHE [ J 400 69% |A:
600 | 66% |A:
100 | 65% |k
100 | 65% |k
900 | 68%
200 | 67%
RIGH .700 68% B
700 | 68% |A:
600 | 66% |k
100 | 63% |k
100 | 63% | k-
100 | 67% |k
R CRE) =X R (FE) 600 7% K
500 | 67% [k
900 | 66% |k
900 | 64% | k]
1900 | 66% | &l
400 | 67% |&
600 | 64%
900 | 66%
AR 900 | 66%
100 | 63%
600 | 64%
600 | 67%
800 | 64%
900 | 66%
900 | 64% -
500 | 69% [ K :14.100, £:12.500
RR(PE)=ERE | RRCAB) R 900 | 79% |
900 | 79%
10.400 7%
10.400 7%
10400 | 77%
900 | 79%
900 | 79%
11.600 | 75% [ H:12.600
ERBR 10400 | 77%
11600 | 75%
9.900 | 79%
9900 | 79%
12600 | 73% | AA.12.300. H:14.600
9900 | 79% |H:10.000
10.400 7% | H:11.400
10.400 7% | H:11.400
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Eam |yl %
RR(PH)-EB | RRCPEE | 23600 | 498 [k 300
25.600 P .400, 1+ H:26.100
25.600 K: 600
25.600 K:
25.600 7t
25.600 7t
R .400 58%
.400 58%
.400 58%
.400 58%
.400 58%
.000 59%
RRPE) A | RRCPEE | J 22600 | 48%
22.900 7
23.300 7
25.600 1
24.800 3¢
24.400 4
23.300 7
25.600 1
RERHR 7.100 1
9.100 56% B
7.600 60% | A:
6.600 62% |k
8.800 57% |
7.100 61% |A: 00, H:18.500
7.100 61% |A: :17.400. H:18.500
500 69% 5 00
R PH)-ERE | RRCPE R 300 | 54% |A:
300 54% | A:
23.300 49%  |JK:
23.100 50%  |7K:
100 50% |7t
100 50%  |[X
300 49% |7t 400, A:17. N
500 49% |7t 600, K:17.600.
BERER 800 17%
000 74%
300 8%
.300 8%
.000 74% :13.000
.300 8% :11.300
.800 17% :11.800
.800 17% :11.800
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SBRE
HR(PH)=-EH HERCPAEHE [ J .500
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600 000, J:14.4
.000 400, K:14.5
RIGH .300 26.300
1300 26.300
700 26.700
700 26.700
700 26.700
1300 26.300
R CRE) =X RECRE) % 800
400
400
400
400
300
600
300
HEARF -300
1300
1300
1300
1300
1300
300 X
200 | 56% 24,600
HR(PE)-ERS | mRCHE) % 300 | 78% 600, H:13.100
300 | 78% 600, H:13.100
800 | 77% 100, H:13.100
800 | 77% 100, H:14.800
800 | 77% 100, H:14.800
300 | 78% 100, H:16.500
300 | 78% 900, H:16.300
000 | 76% 000, £:13.300, H:16.800
ERE% 300 | 65% 300, £ H:26.500
300 | 54% |+ H:26.700
300 | 65% | H:19.300. T H:26.500
300 | 65% |H:19.300. T H:26.500
300 | 54% |+ H:26.700
300 | 65% | H:19.300. T H:26.500
300 | 65% |H:19.300. T H:26.500
.300 | 65% | H:19.300. T H:26.500
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=40] A—N—%FT
R o0
~ | BI5IE
FR(CRE) =R ERCPE)F | J .800 72%
700 | 66%
600 | 68%
600 | 68%
600 | 68%
600 | 68%
RER 600 | 68%
800 | 68%
600 | 68%
700 | 64%
700 | _6a%
500 | 66%
R (CRE) =R ERCPE)FR | J .700 73% |4
600 | 69% [k
400 | 67% |&:
400 | 67% &
900 | 68% [k
400 | 69% &
600 | 67% [k
700 | 69%
AR 100 | 65% |
600 | 64% |
.600 | 6a%
600 | 67% |A:
400 | 65% |H:
900 | 66% |-
400 | 65% |-
200 | 56% |-
RR(PE)=ERE | RRCAB) R .300 78% |+
300 | 78% |
800 | 77% | %
800 | 77%
.800 | 77%
300 | 78%
300 | 78%
000 | 76%
ERBR 1400 75% | A: 300
300 | 7 R 1300
800 | 7 R 300
800 | 7 B :16.300
300 | 7 B 00, £ H:21.300
100 | 7 A
800 | 7 :
800 | 74% |A:
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9/3-13
AN
= R | B0
e EES
FR(CRE) =R ERCPE)F | J 500 71% [A: :13.0
700 | 66% |H:
700 | 66% [
700 | _66%
600 | 690%
600 | 690%
RER 600 | 690%
800 | 68%
600 | 690%
700 4
700 4
400 ES
R (CRE) =R ERCPE)FR | J 1.700 2% |4
600 ES
100 | 66% |%:
200 | 63%
900 | 66% |
400 | 67% _|J
600 | 64t
600 | 67% |AH:
AR 100 | 68% |- H:13.300
700 4 [A:
600 4 7
600 7% |5
800 8-
900 | 66% |-
700 | 64% |H:
600 | 69% [Jc
RR(PE)=ERE | RRCAB) R .900 77
.900 77"
.900 77"
.900 77"
.900 77"
.900 77"
.900 77"
10600 | 76% |H:11.600
ERBR .700 78%
11600 | 73% | AOKA:11.300
9.900 77"
9.900 77"
12600 | 71 711,300, H:13.600
9.900 77" :10.900
9.900 77" :10.900
9.900 77" :10.900

JAL
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9/18-20,9/25-30
Z—1x—
=40]
=4z | BEW
B | gz
FR(CRE) =R ERCPE)F | J .200 70% K
300 | 65% |A:
100 | 68% [k
100 | 68% [k
600 | 69% [%:
600 | 69% |%:
RA%E 600 | 69% U
800 | 68% U
100 | 68% |
700 4
700 4%
500 7% |7
R (CRE) =R ERCPE)FR | J 1.700 2% X
100 | 66% U
100 | 66% [J
800 | 64% | kA
300 | 65% U
100 | 66% [J
100 | 66% | JK:13.
600 7% | % H:15.300. £:13.000
AR 600 7K:13.100. :13.800. £:14.200. E:15.300. H:13.000
600 KA:14.700. % 1:14.800
600 7K:14.100
600 7K:13.000. A £.:13.600. %:14.100
800 X:14.700. 7K:14.000
.900 | 66% | 2k:14.700. £ H:15.300
700 | 64% |k 300 E:14.300
600 | 69% [k:
ER(AB)=ERE |®R(PHE)R .900 77% |k
.900 7% K
.900 7% K
.900 7% X
.900 7%
.900 7%
.900 T7% |12
10600 | 76% | A:13.100. H:11.600
BERB5% 700 78% | 2:13.400
11600 | 73% | A:14.600. JKA:11.300
9.900 77% | :14.400
9.900 77% | :13.600
12600 | 71% | X:14.600. K:11.300. H:13.600
9.900 77% | 2:14.400. H:10.900
9.900 7% % .900
9.900 7% % .900
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EBEEAA 2018/02/07 ~
0/1-4
XF = A== F
.
SBRE 5 %5
HR(PH)=-EH HERCPAEHE [ J 500 71% 200, :13.000
700 | 66% .200
600 | 69% 700 :14.100
600 | 69% 700, A:14.100
600 | 69% 700
600 | 69% 700
RIGH .600 69%
.800 | 68%
600 | 69% |H:14.600. A:14.100
700 4%
700 4%
400 7% _|A:14.500
R CRE) =REX RECRE) % 1700 [ 72% [X:13.400
600 7% | A:14.100
100 | 66%
700 | 64% | kK:14.400
.900 | 66% | kK:13.400
400 | 67% [K:13.100
.000 | 68% | H:14.600. A:13.600
600 | 67% |H:14.700
AR 100 | 66%
700 4% | H:14.600
600 2% [ KOK:14.100
600 R K:
600 2% [
900 | 66% |A:
200 | 65% |k
600 | 69% |k
RER(AEB)=ERS RERCRE) % .600 76% |A:
600 | 76% [A:
800 | 68%
600 | 76%
600 | 76%
600 | 76%
600 | 76% 12
1300 2% 100, A:13.100
ERBR .200 7% 100
300 | 74% 100
600 | 76% 400
600 | 76% 000
300 | 74% 100 7K:13.600
600 6% 900, K:13.100
600 | 76% 500
600 | 76% 500
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EEEME . 2018/02/07 ~
10/9-18
A—/IN—% T
B anm | A0
" | mai=
TR ) R | R (RE R | 500 [ 71% 500 %
700 66%
700 66%
700 66%
.600 69%
.600 69% 100,
R .600 69% :14.700
.800 68% :14.700
.200 65% 0, A:14.100, %:14.400, 1:14.700
.700 4 X
.700 4 .800
400 7 0, #:17.000, 1:13.600, H:14.800
TR RS A | R (HE R | 1700 | 72 m
.600 7
.100 66%
.700 64%
.900 66%
.400 67%
600 64%
.600 67% 800, *:13.100
AR 100 | 66% [JC14 800, H:13.600
.200 H:14.600, KA H:14.700
.600 P .100
.600 000, *:t.13,600;
.800 B:
.900 66% A:
.700 64% A:
600 69% 5
TR RE)ERE | RR (HE R 500 | 764 A
.600 76% |A:
.600 69% : 00
.600 76% B
.600 76% B
.600 76% B
.600 76% B
.300 74 B
BERER .200 77 A:
.300 74 A:
.400 67 A:
.600 76! A:
600 67% A:
.100 70% A:
.600 76% | X:13.400, A:12.400. N 00. B 00
.600 76% | X:13.400, A:12.400, £:14.400, 1:13.100, H:14,500
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T0/19-27
AN
B R | B0
e EES
FR(CRE) =R ERCPE)F | J 500 71% [ H:14.200, A:13.0¢
800 | 64% |15
700 | 66% [
700 | _66%
600 | 690%
600 | 690%
RA%E 600 | 690%
800 | 68%
600 | 690%
700 4
700 4
400 7
R (CRE) =R ERCPE)FR | J 1.700 2
600 7
100 | 66%
200 | 63% %
.900 | 66%
400 | 67%
600 | 64t
600 | 67% |H:14. .
HEARF 100 66% 114, 5.8
700 4% _[A:14,
600 4 7
600 7% |5
800 8-
900 | 66% |- 3400, &
700 | 64% |H: 4.400. A:14.900. % H:15.800
600 | 69% [Jc 200, £:11.600. H:13.100
RRCAB)-ERSE | ®m(AE) % 600 | 76% |A: 800, £:14.600
600 | _76% |H:
600 | 69% [Jc
600 | _76% A%
.600 | 76% | A
600 | 76% |
.600 | 76% |
300 | 74% |H
ERBR .200 77% | A:
300 | 74% |H:
600 | _76% |-
600 | _76% |-
300 | 74% |H:
600 | 76% |H:
600 | _76% A
600 | 76% |k 4.400 -
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5/7-17
FH =57
=R B4 | mam IIESEF
BB %5
KIR (5D =48R (37 F 8)| KB () 5 [ JL2001 :17.300, +:18.900, H:12.300
["JL2005 +17.300, +:18.900. B:
["JL2009 12,500
L2019 2,300, H:13.500
LR (37 F#%) 5_JL2000
["JL2006 12.500
[JL201 :17.400
201 +17.400
KR (BAZE) =#LIR (37 F )| KB (BId) 5 [ JL250 2.500, H:10.400
["JL2503 10.500
L2505 10.500
ALOR (37 F#%) 5_JL2502
FRCRE)=k#5] HR(PA) & [ JL
7 200 | 76% [H:
7 200 | _76% [H:
s ES 7 200 | 74% |+
7 200 | 76% |A:
7 9.300 80% I
RR (FA) =1 R (PE) & [_JL 7 200 | 75% 12.200. 00,
7 200 | 75% |H:12.200. +:12.500.
7 200 | 75% |H:12.200. £H:11.500
7 200 | 72% |EH:12.500
TEIIIZE 7 200 | 72% | £H:12500
7 9.700 78% | H:12.200. £
7 9.900 78% 12.200.
7 9.000 80%
HRCRE) =g HR(PE) R 7 -200 7 E
7 200 | 72% |EH:12.500
7 800 | 73% |H:12.200. £:11.700, £:12.300. H:12.500
ElEES 7 800 | 73% |HH:12.200. £:12.300
7 200 | 72% [T
7 700 | 75%
R CRB)=#IE HR(PE) R 7 .900 75%
7 600 | 73%
7 600 | 73%
7 200 | 72%
ETR3 7 200 | 72%
7 500 | 73%
7 500 | 73%
7 300 | 76%
FR CRE)=EfE HR(PE)F [ JL 7 -200 68%
7 .900 | 69%
7 200 | 65% 12.500
IR 7 700 | 70% 12200, £ H:11.000
7 200 | 68% 200 £:10.600. B:11.500
7 200 | 65% .900. H:12.500
RR(CRR)=RIK RRCRE) $ | JL 7 -800 7
7 000 | 7
7 200 | 7
7 200 | 7
7 000 | 7
7 000 | 7
R 7 200 | 7
7 200 | 7
L 7 .600 |69
L 7 .600 | 69%
L 7 .600 | 69%
L 7 200 | 7
HR(CRA) FR(CRE) % |_JL62 7 -600 7
[ Jl625 | 7 000 | 7
[ Jl627 | 7 000 | 7
[ Jl629 | 7 000 | 7
631 | 7 000 | 7
[ JL633 | 7 000 | 7 B
637 | 7 000 | 7 A
639 | 7 000 | 7 7
AR | _JL622 |7 200 | 70% | A3
[ Jl624 | 7 100 | 68% AL
[ JL626 | 7 100 | 68% |AE
L628 | 7 600 | 67% |kA
L 7 600 | 67% Ak
L 7 000 | 71% |H:14,
L 7 000 | 71% |H:14,
L 7 9,900 76% [JK:11.
RE(CRR)=515 RRECPE)F |_JL68 7 ,000 T1% [ $:12)
| JL689 | 7 ,000 X
| JL69T | 7 600 g
| JL693 | 7 ,200
| JL695 | 7 600
697 | 7 000 600, H:14.100
BB | _JL6s8 | 7 200 600, +:13,600, H:12,000
[ JL6%0 | 7 ,000 600
| JL692 | 7 ,000 7
| JL694 | 7 ,000 7
| JL696 | 7 ,000 7
698 | 7 .800 7
RRCPAE)=-ERE RERCPE) % L641 | 7 .900 8
L643 | 7 ,900 80%
L645 | 7 ,900 80%
L647 | 7 ,900 80%
[ Jl6a9 | 7 ,900 80%
| JL651 | 7 ,900 80%
| JL653 | 7 ,900 80%
L655 | 7 ,600 78%
BERER L 7 700 80%
L 7 10600 | 76%
L 7 8900 80%
L 7 8,900 80%
L 7 10800 | 75%
[ JL650 | 7 ,900 80%
[ JLe52 | 7 ,900 80%
L654 | 7 ,900 80%
IR FTFR) =S LB JL3403 | 7 10.200 80% 500, X
4107 (37 F ) %| L3406 | 7 10,200 | 80% 500, £:10,500

JAL
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EEBEAB 2018/02/07 ~
5/18-31
FH =x7E
=40} B4 | mam IIESEF
BB %5
KR (75 =#LIR (37 F %) KBR (53 & [ _JL2001 300, £:18.900. H:12.300
["JL2005 1300, £:18.900. B:
["JL2009 12,500
L2019 300, H:13.500
FLER (37 T 2%) 3_JL2000 000, H:12.400
["JL2006 ) 12,500
[JL201 200 :17.400
201 200 +17.400
KR (BAZE) =#LIR (37 F )| KB (BId) 5 [ JL250 .200 2500, H:10.400
["JL2503 100 10.500
L2505 100 10.500
ALOR (37 F#%) 5_JL2502 .ggg
12.200 100 £:10400. H:11.800
FRCRE)=k#5] HR(PA) & [ JL 9.700 500, H:10.000
7 200 500
7 .200 1500 H:12.500
s ES 7 200 12500
7 .200 11500
7 9.300 :9.600
RR (FA) =1 R CHmE) 3 | _JL 7 200 2,200, £:12.500. H:11.500
7 .200 2.500. H:11.500
7 .200 1.500
7 200 2.500
TEIIIZE 7 200 2.500
7 9.700 0.000
7 9.900 0.200, £:12.200. £:10.400, H:12.500
7 9,000 :9.300. £:9.500. H:10.000
R CHE) =3Ik R (PE) 7 200 1.700. £ H:12.500
7 200 12.500
7 800 1,700, £:12.300. H:12.500
EIEES 7 1800 2,300, H:12.200
7 200 12.500
7 700 111,100, £:11.200,
IR CRB)=#HIK R (CRE) 7! .900 1500, £:12.100.
7 600 000,
7 600 000,
7 200 500
ETR3 7 200 2.500
7 500 112200, £:11.400,
7 500 112200, £:11.400.
7 300
FR CRE)=EfE HR(PE)F [ JL 7 -200
7 .900
7 200
WER 7 700 1200 £ B:11.000
7 200 .600. H:11.500
7 200 .900. H:12.500
RR(CRR)=RIK RRCRE) $ | JL 7 -800
7 000 | 7
7 200 | 7
7 200 | 7
7 000 | 7
7 000 | 7
RER 7 200 | 7
7 200 | 7
L 7 600 | 7 7
L 7 100 | _70%
L 7 100 | _70%
L 7 000 | 7
HR(CRA) FR(CRE) % |_JL62 7 -600 7
[ Jl625 | 7 000 | 7
[ Jl627 | 7 000 | 7
[ Jl629 | 7 000 | 7
631 | 7 000 | 7
[ JL633 | 7 000 | 7 :
637 | 7 000 | 7 A
639 | 7 000 | 71% [ K
AR | _JL622 |7 000 | 7
[ Jl624 | 7 100 | 6 B
[ JL626 | 7 100 | 68% |AH:
L628 | 7 000 | 7 A
L 7 000 | 7 A
L 7 000 | 7 A
L 7 000 | 7 A
L 7 9,900 76% [k
RE(CRR)=515 RR(CRE) % |_JL68 7 .000 1% |#
| JL689 | 7 ,000 7%
| _JL691 7 ,600 69%
| JL693 | 7 ,200 70%
[ JL695 | 7 ,600 69% |
697 | 7 000 | 71% |R . %:13,600, H:14,100
BB | _JL6s8 | 7 200 | 70% % :13,600, H:12,000
[ JL6%0 | 7 000 | 71% |4
[ JL692 | 7 ,000 7 +H:12,200
[ JL694 | 7 000 | 7 :12,200, H:13.100
[ JL696 | 7 000 | 71% |%:12,200, H:13,600
698 | 7 .800 7 £:12,400, H:12,900
RRCPAE)=-ERE RERCPE) % L641 | 7 .900 8 +:9.900
L643 | 7 ,900 80%
L645 | 7 ,900 80%
L647 | 7 ,900 80%
[ Jl6a9 | 7 ,900 80%
| JL651 | 7 ,900 80%
| JL653 | 7 ,900 80%
L655 | 7 600 78% | H:10.600
BERER L 7 700 80%
L 7 10600 | 76%
L 7 8900 80%
L 7 8900 80%
L 7 11600 | 73% 110,800, H:12.600
[ JL650 | 7 8900 80% 900
[ JLe52 | 7 8900 80% 900
L654 | 7 8,900 00
WRGHFR)=LE LB JL3403 | 7 10.200 80% 500, £:10,500
4107 (37 F ) %| L3406 | 7 10200 | 80% [H:10,500. £:10.500
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.700
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.800

REBERRRRN
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.800

.800
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.800

.800
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LLLEEE
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bk (AR ER) 5 | JL

1

.500

8

600

.600

KR (£751) =ALIR (B F %)

KR (B F | J

FLIR B TFiR) 5

KR (B8EE) =AL#R (37 F %)

KR (BEEE) % | JL:

LR (57 B L
AR (G- OBE) | R (B FD 5 |_JL
T G B |
FEEr ) AR
EEEEESE N
ERCEES I B (O] B
ETTES
TR B RN | R CHE R L
FEITES
TR BB | R CHE R [
TR
FRGB AR | BRI R
BER
FRGIB SR | R E R [
SRE
FRGIBRE | BRI
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FRGIB-LT | BRI 5H o700 |
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58
RGBT | RRE R | J
TR
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o 4/27 4/28 4/29 4/30
) Ba | madm [ZASER OISR SEEDItSEE
BR B B B B
EEEEE] ] 2700 4700 | 14700 | 15700
756 4,700 .700_|__18.700 —
758 700 700 _|_22.200 —
FR(CRE) =R RROCPHE) R [_JL .900 .000 100 100
800 900 100 300
800 500 _|__13.800 600
800 500 | 13.800 600
600 500 600 600
600 300 600 600
EBR 600 100 | 12,000 100
600 100 | 12,000 100
800 [12.000 600
200 200 100
200 200 500
900 [11.000 200
FR(CRE) =R FERCRE)F | JL 7 -600 .400
7 000 600
7 600 100
7 600 100
7 600 100
7 100 300
7 100 100
7 100 300
AR 7 100 [12.000
7 600 100
7 700 100
7 800 [12.000
7 800 [12.000
7 800 600
7 800 600
L 7 000 000
FR(CRE)=215 ERCPE)S | J 7 .200 .200
7 300 100
7 000 100
7 300 300
7 800 300
7 300 13.800
ECE] 7 600 000
7 200 000
7 200 000
7 000 200
7 000 [12.000
7 100 [ 11.800
KR (7)) =ERfE KB (A 5 7 .500 .200
AR 7 2.700 500
AR FFR) LS hE% JL 7 8.900 15,500
FL0% (37 &) %|_JL3406 | 7 15.600 9.900

JAL



LSRG IERER(GA1~6BERD)

EEBEAB 2018/02/07 ~
™ 5/1 5/2 5/3 5/4 5/5 5/6
) Ba | madn (2SRRI DLSER DS RE IS ER[ DS KR ISR
BR B e e B e e
HRCRBR)=XR () | RRCAE) R 200 [ .500
500 | ¢ 700
500 |8 700
500 |8 100
500 |8 100
500 |8 100
500 |8, 100
500 |0, 100
500 | ¢ 100
500 | 0. 100
500 | ¢ -400
500 | ¢ 400
500 | ¢ 400
500 | ¢ 400
500 400
KR () 5 | 7 7500 =00
7 7.500 700
7 7.500 700
7 7.500
7 7.500
7 7.500
7 7.500
7 7.500
7 7.500
7 7.500
7 7.500
7 7.500
7 7.500
7 7.500
7 7.500
FR CRE)=#LIR (i Fi)| RRCHE) % |_JL ; 9‘550000
7 1400
7 .000
7 .000
7 300
7 300
7 000 Y
7 600 T
7 200 1
7 200 1
7 200 1
7 200 1
7 200 1
7 400 1
7 400
7
7
#L1% (37 F %) $_JL500 | 7
["Jts02 | 7
[ JL594 | 7
[ JL504 | 7
[ JL506 | 7
L508 | 7
L 7
L 7
L 7
L 7
[ JL 7
[ JL520 | 7
[ 522 | 7
[ JL524 | 7
[ JL526 | 7
[ JL528 | 7
[ JL530 | 7
508 | 7
FRCRE) =/ (%) | RR(HE)F [ JLo01 [ 7
[ JLoo3 | 7
[ JLoos | 7
[ JLoo7 | 7
L909 |7
L913 |7
L915 | 7
L917 |7
L919 |7 X
[ Jro2i |7 X
[ Jre23 [ 7 13,600
925 |7 19,400
R (ARER) FE |_JL900 | 7 X
[ JLeo2 | 7
[_JLoo4 | 7
[ JLo06 | 7
L908 | 7
L 7
L 7
L 7
L 7
L 7
[ Jre20 |7
1922 |7
KB () =4LIR (3 F k)| KR (54 F [ JL2001 | 7
[_JL2005 | 7
[_JL2009 | 7
L2019 [ 7
#L0% (BT %) $§_JL2000 | 7
["JL2006 | 7
[JL2010 [ 7
L2016 [ 7
KB (BAEE) =4LIR (3 Fik)| KMk (BIdE) _7253 7
2503 | 7
L2505 [ 7
#L0% (BT F %) $_JL2502 | 7
["uL2504 | 7
L2506 | 7
KR (7 =48 (%) | KPR (G % [ JL2081 | 7
L2087 [ 7
B (ARER) $E | _JL2084 | 7
2088 | 7
fRFE=FLIR (BT F k) Ee RS L35 7
L3515 | 7
FLOR (BT F %) L35 7
3512 | 7
BRCRE)=k&5] BR(CRE) % |_JL565 | 7
[ JLs67 | 7
569 | 7
RwmHI5E | _JL562 |7
[ JL564 | 7
566 | 7
RRCRE) =R R (CRE)$|_JL551 | 7
[ JL553 | 7
[ JLs55 | 7
557 | 7
TBNFE | _JLs52 | 7
[ JLs54 | 7
[ JL556 | 7
1558 | 7
RERCRE) =8I RERCRE) % L 7
L 7
L 7
FlEES L. 7
L 7
L 7
RR(CRB)=Hk RERCRE) % L! 7
L575 | 7
L577 | 7
L579 | 7
HILFE L570 | 7
L572 | 7
L574 | 7
L576 | 7
R (CRE)=HE RR(CPE) $ [ JL585 | 7
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s 5/1 5/2 5/3 5/4 5/5 5/6
B Ba | A [ZAESEE] DS ER DS DI S RE] DS R DL bS R
BB B e e e e e
800
800
EER .300
800
1400
HECRE) =& HR(PE)F .800
800
700
700
300
800
HHER .800
300
300
800
7 800
7 800
FR(CRE)= RRPE)F [ J 7 8.700
7 12.100
7 700
RE 7 10.700
7 10.700
7 700
FRCRE)=HE HR(PE) R 7 .900
7 700
7 700 TG
7 11.600 1
TKE R 7 900 o
7 700 [ o
7 700 [ o
7 .900 )
FRCRE) =1L HR(PE) R 758 .700 1
L 758 700 1
2 L 758 600 1
L 758 700 ¢
RR(PE)=E | RRCPE)%E | J 7 000 I
7 700 [ o
7 .200 [ s
7 700 s
7 700
7 700 [ s
TVASE 7 000 [ 7
7 000
7
7
7
L 7 .
ER(PE)-miLaE | RR(FR)R L2 J5HRE| 21
L2 75E AT | 22.
L2 758 16. 1
BiEESR L2 758 12. 1
L2 75E T | 21. 1
L2 758 22. 22.200 — —
RR(CRR)=RIK FR CRE) % |_JL605 | 7
[_JL607 | 7
[ JL609 | 7
611 |7
613 | 7
615 | 7
KW | _JL606 | 7
L608 | 7
Lf 7
Lf 7
Lf 7
Lf 7
FR(CRE) =R FR(CRE) % |_JL62 7
[ Jl625 | 7
[ Jle27 | 7
[ JL629 | 7
631 | 7
[ JL633 | 7
637 | 7
1639 | 7
fEAR [ JL622 |7
| JL624 | 7
| JL626 | 7
| JL628 | 7
Lf 7
Lf 7
Lf 7
Lf 7
RRCPAE)=-ERE RERCPE) % L 7
Lf 7
Lf 7
Lf 7
[ JL649 | 7
| JL651 | 7
| JL653 | 7
L655 | 7 10,600
ERER L 7 8.700
L 7 10,600
L 7! 8,900 |22
Lf 7 8,900 1400 27,400
L 7 11,600 23900 28,000
| JL650 | 7 8,900 28,500 29,000
[ JLe52 | 7 8,900 29,500 30,000
L654 | 7 8,900 28,500 28,500
KR (7 5) =mtE KB (P % | JL2123 | 7 700 18,500 18,500
BfE L2124 [ 7 600 600 500 32,100 32,100
AR FHTFR) =B L& L3403 [ 7 700 500 | 32900 16,400 17.400
HLOF (37 F &) % JL3406 | 7 700 | 15600 20,200 29,700 29,900




TSR FIERER(6A1~THERD)

EEBEAB 2018/02/07 ~
6/1-7
FH =x7=
=40} B4 | mam - . IIRSEE
BB ERE FHES %5
KB () =4LIR (F F5%)| KB (F3) % |_JL2001 .800 66% |$:17.300, £:19.200, B:
|_JL2005 .800 66% |%:16.300, 1:18.300, H:
|_JL2009 .700 77% |4
L2019 100 75%
LR (37 F#%) 5_JL2000 .700 75%
L2006 500 75%
| JL201 .900 63%
201 .900 63% .300, H:17.400
KR (BAZE) =#LIR (37 F )| KB (BId) 5 [ JL250 .400 73% 3:10.000
| JL2503 .700 81%
2505 .700 81%
ALOR (37 F#%) 5_JL2502 .500 82%
| JL2504 500 79%
2506 .900 7: :10.700, 1:10.000, H:11.400
FRCRE) =R FR CRE) % |_JL605 -800 7 2.900
7 900 7. AR
7 .000 1
7 .000 1
7 .000 1
7 .000 1
RIGFH 7 .000 1
7 .000 1
JL 7 .600 7
JL 7 .000 1
JL 7 .000 72
JL 7 100 73%
FR(CRA) FRCPE)$|_JL623 | 7 .600 7
7 .000 7
7 .000 7 :
7 .000 7 B: N 00
7 .000 7 A: :13.100, H:11.800
7 .000 7
7 .800 7 3.100, H:13.600
7 .000 7 00
BEARF 7 800 7
7 100 68% |A:
7 100 68% |A:
7 .000 7 B:
J 7 .000 7 B:
JL 7 .000 7 &
oL 7 000 | 71% | &
JL 7 .900 76% |7K:11.000. 3:12.100
RER(AEB)=ERS FRCRE)F | JL 7 .900
JL 7 .900
L 7 .900
L 7 .900
[oLeas |7 900
[oLest |7 900
[oL6s3 |7 900
L655 | 7! .600 78% | H:10.600
BEREH L 7 700 80%
L 7 10.600 76%
L 7 8.900 80%
L 7 8.900 80%
oL 7 10,600 | 76%
| JL650 | 7 .900 80%
| JL652 | 7 .900 80%
L654 | 7! .900 80%
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FH
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6/8-14
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ERE

%

KR (BFH) =ALIR (37 F %)

KR (A% | J
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8.100, 1:20.000, H:12.600
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:17.100, £:19.100, B:
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700

MY
i

12,200

.700

.200, £:12.600

HLIR (37 F %) $§_JL2000

.700

.200, H:12.700

.500
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700

.400, £:15.100, H:18.200

700

400, +:15.100, H:18.200

KB (BEEE) =ALIR (37 F %)

Kk (BAEE) 5 | JL:
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16,100, H:11,700
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6/22-30
## o
= XY E—— R
CNEEE #%
KR (B FD =AL0 (5 T 20| KR (B % | JL2001 600 4% | %18.100. £ 22600, H:12.600
|_JL2005 .600 4% +17.100, £:21.900, H:
["JL2009 700 | 77%
L2019 700 | 75%
LR B ) L2000 700 |73t
L2006 .500 75%
| JL201 700 62%
201 700 62%
R ) =R (57 0| R () 3 [ JL250 100 [70n
| JL2503 .700 81%
2505 .700 81%
TR B ) L2502 500 [z
| JL2504 500 79%
2506 .600 7
FECHE-RR | R CHE) R |60 800 7
7 .900 7.
7 .000 7
7 .000 7
7 000 | 72% 2 >
7 .000 1 J Rk 113,
RIGS 7 .000 1 %:13.300, £:13.800
7 .000 1 %:13.300, £:13.800
JL 7 .600 7 4:12.000, JKA:11.800, £:12.200, H:13.600
JL 7 .100 70% |JKAK:12.000, £:13, 12, 14,
JL 7 .100 70% |7}
JL 7 .000 7 IKA:
FEIET R CHED R | 623 |7 600 | 720 [g
7 .000 7
7 .000 7 :
7 .000 7 B:
7 .000 7 B:
7 .000 7 £
7 .800 7 B:
7 .000 7 kK:
AR 7 800 | 7
7 .100 68% |A:
7 .100 68% |A: .
7 .000 7 A: 11.800, 00. B
J 7 .000 7 A: 11.800, #:13.100, B
JL 7 .000 7 %:13.100, H:13.800
| JL 7 .000 7 £:13.100, 3.800
JL 7 .900 76% |7K:11.000. # H:12.100
TR AR ERE | R CAm % | Lol |1 500
JL 7 .900
L 7 .900
L 7 .900
[ Jiea9 | 7 900
[ Jies1 | 7 900
[ Ji6s53 | 7 900
L655 | 7 .600 78% | H:10.600
BERB% L 7 700 80%
L 7 10.600 76%
L 7 8.900 80%
L 7 8.900 80%
o 7 10600 | 76%
| JL650 | 7 .900 80%
| JL652 | 7 .900 80%
L654 | 7 .900 80%
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EEFMMBA . 2018/02/07 ~
7/17-23
T =
] &5 | mAm PR 5
® | &mm |50
" | misiE
TR CAE)-RM | RRCRED % | J 800 | 745 [A13400 K
.800 70% | :AJK:12.000.
.800 72% |7K:12.200, A&:
.800 72% |7K:12.200, A&:
.800 72% K4
.800 72% K4
RIGS .800 12%  |[X
.800 72% |Y
.600 70% B
.600 70% |7t
.600 70% |7t
.000 74% | K
TR CAE)-FeR | R CRED % | _JL 600 | 73% | Ad
.000 72% | K4
.200 72% | XA
7 .200 72% | XA
7 .200 72% | XA
7 .000 72% |&4
7 .600 69% |7t
7 .200 2% 300, A:12. . :13.800, H:14.3
BEERR 7 .200 72% |A:13.100, A:12.800. £:13.300, +:13.800
7 .600 69% |7K:13.100
7 .600 69% |7K:13.100
7 .600 69% |71 .000, A +:12.600. £:13.100
7 .600 69% |71 000, K+:12.600., £:13.100
7 .300 69% |7t 13.800
7 .300 69% |7t 13.800
7 .500 74% 300, £:10.500
ER(AB)=ERE |®R(PHE)R 7 400 80%
7 .400 80% |A X
7 .400 80% | +:10.400
7 .400 80% | ::10.800
7 .400 80% | :10.800
7 .400 80% | :10.400
7 .400 80% | :10.800
JL 7 10.800 17% A:11.100, £ H:12.100
BERER JL 7 .400 80% |4
JL 7 11.100 76% | Y
JL 7 9.400 80% |4
JL 7 9.400 80% |4
J 7 12.100 74% |Y K:10.800. H:13.800
7 9.400 80% |4 .400
7 9.400 80% |4 .400
7 9.400 80% |4 .400

JAL



NS RBIHEER(TR24~31BEFES)

EBEEAA 2018/02/07 ~
7/24-31
FH =
= B2 | mAM T PR 5
R | EAE | s
HR(PH)=-EH HERCPAEHE [ J .800 74%
.800 | 70%
800 | 72%
800 | 72%
800 | 72%
800 | 72%
RIGH 800 72%
800 | 72%
500 | 71%
800 | 72%
800 | 72%
000 | _74%
R CRE) =X RER(PE) % .600 73%
000
200 | 72%
200 | 72%
200 | 72%
000 | 72%
200 | 72%
200 | 72%
AR 200 | 72%
.600 | 690%
.600 | 690%
600 | 71%
600 | 71%
200 | 72%
200 | 72%
500 | 74%
RR(PE)=ERE | RRCAB) R .400 80%
400 80%
400 80%
.400 80%
.400 80%
400 80%
400 80%
10800 | 77% |BA:11.100. & H:12.100
ERBR 400 80%
11100 | 76% | AIKA:10.800
9.400 80%
9.400 80%
12100 | 74% | XA.10.800. H:13.800
9.400 80% | H:10.400
9400 80% | H:10.400
9.400 80% | H:10.400

JAL



TSR FIERER(BAI~THERD)

EEEAA 2018/02/07 ~
8/1-7
34 E
] &5 | mAm DAETEE
® | Enm s
R CRE)=HEX R (FE) 21.900
21.900
22.300
22.300
22.300
21.700
22.300
22.100
AR 500
.600
.600 X
.600 64% 100, 7K: N
.600 64% 100, 7K:13.600.
.000 66%
.000 66%
.800 il
RRBE)-ERE | R (BER 000 |54
.000 4
22.500 1
22.300 52%
22.300 52%
22.300 52% X 00, H:20.800
22.500 51% |7K:14.600, A:16.600. .300. H:21.000
22500 | 51% [7K:14.600. A:16.600. .300. H:21.000
BRBR 9.800 | 79%
11500 | 75%
9800 | 79%
9800 | 79%
11500 | 75% 500
9800 | 79% 800
9800 | 79% 800
9800 | 79% 800

JAL



LSRG IEER (BA18~24B1EFE)

EEEAA 2018/02/07 ~
8/18-24
34 =
] &5 | mAm DAETEE
B | mam oW
wll TS
R CRE) =REX RER(PAE) % .600 7 £
.000 o
.200 Vi
.200 Vi
.200 2 .
.000 +13.100, £:14.100,
.200 :13.800, A:12.600. 300, H:14.800
.300 2.000. 7k:12.200. 00, 1:13.200, B:15.300
BEARR 20.300 25.300
20.300 25,700
20.300 25,700
20.300 25,700
20.300 25,700
20.300 25,700
20.300 25.700
8.200 23.600
RRBE)-ERE | R (BER 500 |7 00,
800 | 79% 800,
800 | _79% 100,
800 | _79% 800,
800 | 79% 800,
800 | 79% 800,
800 | 79% 800, B1:14.
10.500 7% .500, £:12.800, H:14.800
BEREH 15.300 67% .300, £ H:25.700
20.300 56% 25.700
15.300 67% :18.300. + H:25.700
15.300 67% 8.300. + H:25.700
20.300 56% |+ H:25.800
15.300 67% | 8:18.300, £ H:25.800
15.300 67% |H:18.300, £ H:25.700
15.300 67% | H:18.300, £ H:25.700

JAL



EEEAA

2018/02/07

TSR BIHEER(8BA25~31BIEFES)

=40]

FH
BAH

8/25-31

INFSER

EAE

R CRE)=HEX

R (FE)

.600

.000

.200

.200

.200

.000

.600

.300

BAR

.100

.600

.600

.600

.600

.200

.200

.600

RR(PE)-ERS

RECPE)#

.800

.800

.800

.800

.800

.800

800

.500

ERBR

.400

.800

.800

.800

.800

.800

800

:800

200, :13.600. 1

JAL



EEEAR

2018/02/07 ~

TS %RBIEER(TAI13~16BEES)

=40]

FH
BAH

7/13

7/14

7/15

7/16

DILESER

DILESER

DILESER

DIVESER

ERE

R CRE)=Ki&

RROPE)FE | J

.900

.300

ERE

.800

.800

.800

.500

R

.800

.800

.500

.800

.800

.100

R CRE)=#EX

RRERCPE) R | JU

.400

.800

.800

.800

.800

.800

.100

.300

AR

.100

.600

.600

.100

.100

.300

.300

.000

RR(PE)-ERS

RECPE) R

.400

ERBR

] Y Y Y Y Y)Y Y)Y Y Y Y Y )Y ) Y )Y )Y Y Y Y ) Y )

JAL



EEEAR

2018/02/07 ~

LS %FIEER(BAS~15AERES)

=40]

FH
BAH

8/10

8/11

8/12

8/13

8/14

8/15

8/8
DILESER

8/9
DILESER

DILESER

DIVESER

DIVESER

DIVESER

DIVESER

DIVESER

ERE

ERE

ERE

ERE

ERE

RRCPE) =AM

RECPE) R

.600

.700

.700

.700

.700

M

.700

31.800

.300

.400

.100

.700

.100

.700

.500

.700

20.700

.700

700

.700

.700

.700

700

.700

.700

.700

.700

.700

.700

.700

R CRE)=#EX

RECPE) R

22.300

22.300

22.300

22.300

22.300

22.500

22.300

22.900

AR

.200

.600

.600

.800

.800

.000

.000

.100

R CRIE) =58

TR R | L

22.500

22.500

22.300

22.500

22.500

22.500

.000

.000

.000

.200

.000

800

RR(PE)-ERS

RECPE)#

22,500

22.500

22.500

22.300

22.300

22.300

22.900

22.900

ERBR L

9.800

11.500

700

700

.900

.700

.900

25.300

.900
.500

25.300

9.800

9.800

11.500

9.800

9.800

] Y Y Y Y )Y Y Y Y Y Y Y Y Y Y Y Y Y )Y )Y Y Y Y ) ] Y ) Y ) ) ) Y ) ) Y )

9.800

JAL



EEBEAB 2018/02/07 ~
o 8/16 8/17
) B2 | mam [PAUSERDLSER
BR B B
FRCRE)=AL M RERCPE)F|_JL ggg .600
JL 700
JL 700
JL 700
EIZ Y E I TE 20900
JL 22,000
JL 38.500
JL 38.500
JL3 25.100
R CRE)=HEX FRCPE) % |_JL623 .400
[ JL625 800
[JL627 800
[ JL629 800
JL63 800
[ JLe3s [ 7 800
[ JLes7 [ 7 300
JL639 | 7 000
FeA% | _JL622 |7 25300
[Jie24 |7 25.300
[JL626 |7 25300
JL628 | 7 25.900
JL630 | 7 25.900
JL632 | 7 25.900
[ JLe3a [ 7 25.900
JL638 | 7 23.800

TS %B I EER(BAI6~1TARES)

JAL



TN RFIEER(OAI~13ARES)

SEEEMAA : 2018/02/07 ~
9/3-13
FH =
= ma | mAM T DAETEE
R | EAE | s
R CRE)=HEX RECRE) # .600 72%
000 | 71%
200 | 70%
200 | 70%
200 | 70%
000 | 71%
600 | 67%
200 | 70%
AR 100 | 68%
600 | 67%
600 | 67%
600 | 69%
600 | 69%
200 | 70%
200 | 70%
600 | _72%
RR(PE)=ERE | ®RRCAE) R .400 78%
400 78%
400 78%
400 78%
400 78%
400 78%
400 78%
10100 | 77% |H:11.100
ERBR .200 79%
11100 | 75% | AOKA:10.800
9.400 78%
9.400 78%
12100 | 72% |XA.10.800. H:13.100
9.400 78% | H:10.400
9.400 78% | H:10.400
9.400 78% | H:10.400

JAL



ISR GFIEER (9A18~30BEFED)

EBEEAA 2018/02/07 ~
o 9/18-20.9/25-30
= ®4 | mAM — ILEIERE
B | EmE |yt w3
R CRE)=HEX R (FE) .600 72% _[X:13.900, & 00,
100 | 68% | 2:14.100, 7K:12.000.
100 | 68% | Jc (3. :
100 | 68% | 2k:13.600, 7K:12.000.
100 | 68% | 2:13.600, 7K:12.000.
000 | 71% [
100 | 68% | k.12
600 | 69% |JK:12.200, %:13.800.
AR 600 | 67% |7K:12.100. A:12.600,
600 7
600 7
600 7
600 | ¢ 7
200 0%
200 | 70% |
600 | _72%
RR(PE)=ERE | ®RRCAE) R .400 78% |
400 78% |2
400 78% |2
.400 78% |2
.400 78% |2
400 78% |2
400 78% |2
10100 | 77% |2
ERBR .200 79% | X:12.900
11100 | 75% | A:13.600. JKA:10.800
9.400 78% | 2:13.600
9.400 78% | :13.100
12100 | 72% | X:13.600. :10.800.
9.400 78% |2
9.400 78% |2
9.400 78% |2

JAL



TSR GIERER(10A1~4BEESD)

EBEEAA 2018/02/07 ~
0/1-4
FH =
X B2 | A . IIRSEE
i) EAE B51% %5
R CRE)=HEX R (FE) .600 72% | A:12.900
000 | 71% [A:13.100
200 | 70% | kK:12.000
200 | 70% | k7K:12.000
200 | 70% | k7K:12.000
000 | 71%
000 | 71% |H:13,600. A:12.600
.300 | 68% | X:12.000. JK:12.200, A:12.600
AR 100 | 71% |H:13.100. A:12.600
600 | 67% | k0K:13.100
600 | 67% | ksK:13.100
600 | 69%
600 | 69%
200 | 70%
200 | 70%
600 | 72%
RR(PE)=ERE | ®RRCAE) R .400 78%
400 78%
400 78%
.400 78%
.400 78%
400 78%
400 78%
10100 | 77%
ERBR .200 79%
10.800 | 75% [A11.100
.400 78%
400 78%
12.100 | 72% [JKA:10.800
9.400 78%
9.400 78%
9.400 78%

JAL



TSR BIHEER(10AI~18BEFES)

SEEEMAA : 2018/02/07 ~
0/9-18
FH =
) B2 | mAM ii;a DLFSER
R | EAE | s
R CRE)=HEX RECRE) # .600 72% |k
000 | 71% [
200 | 70% [
200 | 70% [
200 | 70% [
000 | 71% [
600 | 67% [k
200 | 70% |A:
AR 100 | 68% [k
600 | 67% [k
600 k-
600 k-
600 | ¢ k-
200 0% _[R:
200 | 70% |H:
600 | 72% [k
RR(PE)=ERE | ®RRCAE) R .400 78% |
400 78% |2
400 78% |2
400 78% |2
400 78% |2
400 78% |2
400 78% |10,
10100 | 77% | X:10.800. & H:11.100
ERBR .200 79% | X:12.900
11100 | 75% | A:14.100. JKAK:10.800
9.400 78% | :14.100
9.400 78% |2
12100 | 72% |2
9.400 78% |2
9.400 78% X
9.400 78% |2

JAL



LSRG IEER(10A19~27HEES)

SEEEMAA : 2018/02/07 ~
T0/19-27
FH =
= B2 | mAM TET PR 5
R | EAE | s
R CRE)=HEX RECRE) # .600 72%
000 | 71%
200 | 70%
200 | 70%
200 | 70%
000 | 71%
600 | 67%
200 | 70%
AR 100 | 68%
600 | 67%
600 | 67%
600 | 69%
600 | 69%
200 | 70%
200 | 70%
600 | _72%
RR(PE)=ERE | ®RRCAE) R .400 78%
400 78%
400 78%
400 78%
400 78%
400 78%
400 78%
10100 | 77% |&H:11.100
ERBR .200 79%
11100 | 75% | AOKA:10.800
9.400 78%
9.400 78%
12100 | 72% |XA.10.800. H:13.100
9.400 78% | H:10.400
9.400 78% | H:10.400
9.400 78% | H:10.400

JAL



EEEAR

2018/02/07

=40]

FH
BAH

9/1
DILESER

9/2
DILESER

ERE

R CRE)=#EX

RECPE) R

.400

.700

.300

.300

.300

.100

.100

.200

AR

.600

.600

.600

.600

.600

.200

.200

.600

RR(PE)-ERS

RECPE)#

.400

.400

.400

.400

.400

.400

.400

.100

ERBR

.200

11.100

9.400

9.400

12.100

9.400

9.400

] Y] YY) Y Y Y Y Y Y Y Y Y Y )

9.400

TSR FIERER(OA1~2BERD)

JAL



TSR IEEROAI14~1TERES)

EEBEAB 2018/02/07 ~
s 9/14 9/15 9/16 9/17
=40} 2N T T ST G ST I ST o I
BB ERE e B
R (CRE) =R RERCPE) % .400 400
700 600
800 600
800 600
800 600
800 200
800 300
300 800
AR 600 200
600 600
600 600
600 000
600 |_12.000
JL 300 100
JL 300 100
JL 7 100 |_10.800
RER(AEB)=ERS FRCRE)F | JL 7 .400 .400
JL 7 400 .400
JL 7 300 .400
JL 7 800 .400
7 800 400
7 800 400
7 300 400
JL 7 300 1100
ERB% | JL 7 .200 .200
JL 7 600 800
JL 7 600 .400
JL 7 600 400
7 600 200
7 600 1400
7 300 1400
7 300 1400

JAL



TSR IEER(OA21~24BHEES)

EEBEAB 2018/02/07 ~
s 9/21 9/22 9/23 9/24
=40} 2N T T ST G ST I ST o I
BB ERE e B
R (CRE) =R RERCPE) % .400 400
700 600
800 600
800 600
800 600
800 200
800 300
300 800
AR 600 200
600 600
600 600
600 000
600 |_12.000
JL 300 100
JL 300 100
JL 7 100 |_10.800
RER(AEB)=ERS FRCRE)F | JL 7 .400 .400
JL 7 400 .400
JL 7 300 .400
JL 7 800 .400
7 800 400
7 800 400
7 300 400
JL 7 300 1100
ERB% | JL 7 .200 .200
JL 7 600 800
JL 7 600 .400
JL 7 600 400
7 600 200
7 600 1400
7 300 1400
7 300 1400

JAL



TSR GIERER(10A6~8BEESD)

EEBEAB 2018/02/07 ~
™ 10/6 10/7 10/8
=R @2 | mam [PAESEB[DLSEB[ LS RE
BB B e B
R (CRE) =R RERCPE) % 200 | 1 400
600 | 1 600
600 | 1 600
600 | 1 600
600 | 1 600
300 | 1 | 13.800
800 300
800 600
AR .600 200
1400 600
1400 600
600 100
600 100
JL 600 600
JL 600 7.600
JL 7 000 400
RER(AEB)=ERS FRCRE)F | JL 7 .400 .400
JL 7 25.900 400
JL 7 25.900 600
JL 7 .900 600
7 300 600
7 600 200
7 800 22,500
JL 7 800 1300
ERBR JL 7 200 .900
JL 7 300
JL 7 300
JL 7 800
7 800
7 400
7 400
7 400

JAL



